DELHI PUBLIC SCHOOL, BHILAI

Date : 20.09.2023 MIDTERM EXAMINATION - 2023 ~ Time : 3 Hrs.
Class : VIl Subject : English Max. Marks : 80

General Instructions :

Al

A2

Read the instructions carefully before answering the questions.
Attempt all the questions in each section before going to the next section.
Ail the answers must be correctly numbered and written neatly.
For multiple choice questions, option numbers must be clearly specifizd, along with the answers.
The paper consists of 4 sections :
Section A : Reading (16 Marks)
Section B : Writing {18 Marks)
Section C : Grammar (16 Marks)
Section D : Literature {30 Marks)

Section A : Reading (16 Marks)
Read the passage given below and answer the questions that follow : (1x8=8)

1. From ancient civilization to modem society, sports have remained a peaceful medium for both
entertainment and personal growth. They offer a unique blend of competition, camaraderie and life
lessons that continue to resonate with people of all ages.

2. At the heart of sports lies the concept of sportsmanship. It’s not just about winning or losing, it’s
about how the game is played. The vital aspect of it emphasises on fair play, respect for opponents
and integrity throughout the competition.

3. Team sports such as soceer, basket ball and hockey underscore the significance of working together
as a unit. Players learn to communicate, collaborate and coordinate their efforts to achievea
common goaj,

4. Individual sports including tennis, swimming and athletics focus on personal achievements and self
discipline. Athletes set their own standards and work relentlessly to surpass them. This journey of
self~improvement, often characterised by intense training and determination, teaches individuals the
value of pushing boundaries and never giving up.

5. Beyond physical prowess, sports promote mental ability and well being. Engaging in regular
physical activity is not only good for the body but also sharpens the mind and relieves stress.

6. Sports are also invaluable in developing life skills. Time management, leadership and adaptability
are sharpencd as athletes train. The resilience they learn is reflected in their academic and
professional lives.

(a) Why are sports popular with people of all ages? (1)
(b) What is the central concept at the heart of all sports? (D
(c) What values are emphasised by sportsmanship? (1)
(d) What do players learn through team games? - (D)
(¢) What arc the benefits of sports for mental well being? (1)
(f) Which quality do players exhibit in their academic and professional lives? (1)
(g) Sports develop (D
(1) indiscipline (2) leadership (3) time management (4) lethargy
(1) 1and 2 (11) 2 and 3 {(1i} only 3 {(iv) all the above
(h) The word from the passage which is the antonym of ‘dislike’ is (1)
(1) vital (i) camaraderic (iii} collaborate (d) relentless
Read the given poem and answer the questions that follow : (1x8=8)
I. In a meadow bathed in gold so bright,

where flowers danced in soft suntight,
A tale of nature’s wonders unfoids,
As a gentle breeze through stories rolled.

2. Butterflies painted the air with grace,
Each one a vibrant, delicate embrace.
Bees hummed a melody, sweet and clear,
Nature’s symphony for all to hear.

3. The trees whispered secrets to sky,
Their branches reaching, soaring high.
A symphony of life in every hue,
In this meadow, dreams come true.
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4. With every word, the world came alive,
In this tapestry where wonders thrive.
A lesson learned, as nature’s art,
Life’s beauty captured in every heart.

5. Amidst the meadow’s vibrant embrace,
Nature’s wonders painted with grace.
Curious minds delve into the scene,
Unlocking its mysteries, pure and keen.

(a) The poem is set in H
(a) acity (i) abeach at sunset (iii) a meadow in sunlight  (iv) a deep forest
(b) The breeze (1)

(i) creates chaos and destruction

(ii) carries stories and adds movement
(iii) scares away butterflies and bees
(iv) hides in trees and whispers secrets

(c) How has the poet described the butterflics? (1)
(d) What did the bees do? _ {1}
{¢) What role did the trees play? (1)
(f) Who undersiands the mystetics of nature? (1)
(g) Find the word from the poem which means the same as ‘colour’ (stanza 3) (1)
(h) Find the word from the poem which is the antonym of ‘dull’. (stanza 2) (1

Section B : Writing (18 Marks)

B.1  You are Namit/Namita, Sports Secretary of Bal Bharti School, New Delhi. The school has decided to
hold an Inter-School Debate Competition on the occasion of Gandhi Jayanti. Draft a notice, with
necessary details, informing the students and inviting them to participate in it. (50 words) 3)

B2  Write an article for your school magazine on ‘The Dangers of Social Media’. (5

B3  You are Vinit/Vinita residing at H-5, Park Road Colony, Lucknow. Write a letter to your friend telling
him about the surprise birthday party you organized for your father. You can use the given
hints (120 words) ‘ (8)
had to keep everything secret — thought about his likes and dislikes — made a guest list of family and
friends — informed them — asked to keep it secret — hired a cook to prepare favourite dishes — mother
booked a Disc Jockey — guests arrived early — was-heartwarming 1o see happiness on his face — he
thanked all of us - said was best birthday ever

OR
Using the given hints, write a story in about 120 words. Give a suitable title to it.
two geese, a tortoise lived beside lake — great friends — lake drying — decide to migrate — tortoise can’t
fly — geesc held stick with beaks — asked tortoise to hold stick — warned tortoise not to open mouth —~
children shouted on seeing — tortoise opened mouth — fell and died
SECTION C : Grammar ( 16 Marks)

C.1  Fill in the blanks with suitable adjectives: )]
{a) Iwouldlike .................ee coffee, please.

(a) many (i1) much (iii) some (iv) few
(b) Thereisnot................. water 1n the glass.
(a) some (i) much (iii) many (iv) few

C.2  Fill in the blanks with suitable prepositions: (2)
() She has lived in Bhilai ............. three years.

(a) for (ii) since (iil) from {iv) by
(b) Idonotliketoargue ................ my friends. '
(a) against (i} by {(iii} with (iv) to

C.2  Fill in the blanks with the suitable form of verbs : (2)
(a) Rice .ooeernnnnns well in alluvial soil.

(i) grown (i) grew (iii) growed (iv) grows
(b) The children ............... the song earlier.
(a) had learnt (ii0 has learnt (iii) learned (iv) learnt

C.4 (a) Fill in the blank with a suitable *Gerund’: (1
(i) Tlike .oooieiniinnnnnn. .

(a) to read (ii) reading (iii) read (iv) reads
(b) Fill in the blank with the correct form of “infinitive’: (1
(i) Tlike ............
(i) reading (i1} reads (iii) to read (iv) reads
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identify the verb and state whether ‘Transitive’ or ‘Intransitive’: (2)
(a) My father is buying a new car.
{(b) The doctor is a kind man.

Convert the following sentences into Passive Voice: 2)
(a) Michael is baking a brownie.
(b) The boy ate an ice-cream.

Identify the error and rewrite the following sentences correctly: (2)
(a) Ilive by my parents in Hazari Bagh.
{b) Physics are a difficult subject.

Give an idiom for the following : (2)
(a) to have a written proof of something
(b) to look unwell or sick

Section D : Literature (30 Marks)
Read the extracts given below and answer the questions that follow : (3x3=9)

1 He wished only to borrow;
He’d repay it tomorrow
If not, he must die of starvation and sorrow

(a) Who did ‘he’ wish to borrow from ? {1)
(b) What did “he’ want to borrow? (1)
(c) What would happen to him if he did not borrow? (1)

2. The logic of geography —
That land and water attracted man —
Was clearly delineated
When the jet reached ten thousand feet.

(a) The logic of geogrphy isthat ............. attract man. (1)
(i) land and wind (ii) land and water
(iii} only land - (1v) enly water

(b) The above lines are from (1)
(1) A Geography Lesson (ii) The Geography Lesson
(i11) Geography Lesson (iv) Geography Lessons

(¢) The word ‘delineate’ means to (1)
(1) describe (i) conceal - (i) aveid (v} display

3. Sword in hand the King came in his chariot.
He held my hand and said, ‘1 will hire you with my power,’
But his power counted for naught, and he went away in his chariot.

(a) What did the King offer? {1)
(b) Did the man accept the offer? Why? {1)
{(c) Name the poet. (1}
Answer any three of the following questions in about 30 to 40 words cach (2x3=6)

(a) What is your opinion of the ant’s principle? What was the principle?

(b) Why did the man turn down the old man’s offer of money?

(¢) What do people say about the elephants of Yala National Park?

(d) Why did Tilly’s family come to Thailand?

Answer any one of the foliowing questions in about 75 words: (5)

Why did Bepin Babu change his mind about meeting Chunilal? What was the result of this meeting?
OR
What is Connie’s Christmas present? Why is it “The best Christmas present in the world’?

Answer any three of the following questions in about 30 to 40 words each. (2x3=6)
(a) What happened when Cesario visited Olivia?

(b} How was the murder of Duncan arranged?

(¢) What plan did Viola make to earn her living?

(d) What bad new did Antonio’s letter to Bassanio contain?

Answer any one of the following questions in about 75 words. 4)
How did Portia as doctor Balthazar help Antonio?
OR
What happened at the banquet which Macbeth had held for the lords?
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DELHI PUBLIC SCHOOL, BHILAI

DATE : 03.10.2023 MIDTERM EXAMINATION - 2023 Time : 3 Hrs.
CLASS : Vill Subject — Mathematics Max. Marks : 80

General Instructions :

O

01.

02.

(3.

04.

05.

06.

07.

08.

09.

10.

1.

12.

13.

i4.

15.

16.

17.

18.

This question paper has 5 sections A, B, C, D and E.

Section A has 20 MCQs carrying 1 mark each.

Section B has 5 questions carrying 2 marks each.

Section C has 6 questions carrying 3 marks each.

Section D has 4 questions carrying 5 marks each. :

Section E has Case based integrated units of assessment (4 marks each) with sub-parts of the values
1, 2 and 1 mark each respectively. _

All questions are compulsory. However, an internal choice in 2 questions of 5 marks, 2 questions of
3 marks and 2 questions of 2 marks has been provided. An internal choice has been provided in the
2 marks questions of Section E.

. 2 e
Draw neat figures wherever required. Take m = E; wherever required if not stated.

Section — A

(Consists of 20 questions of 1 mark each) (1x20=20)
Which of the following is the multiplicative identity for Rational numbers?
(a) 0 (b) 1 (by —1 {d) Noue of these
Rational numbers are closed under the operations of
(a) Addition {b) Subtraction (¢) Multiplication (d) All of these
In the equation 4z + 3 = 6 + 2z, the value of z is
(a 2 (b) 3 (c} 5 {d) None of these
How many sides does a regular polygon have if the measure of an exterior angle is 24° ?
{a) 15 (b) 10 (c) 20 {d) None of these
In which of the following figure, diagonals are equal:
{a) Rectangle {b) Rhombus (c) Trapezium (d) Kite
‘The maximum number of obtuse angles that a quadrilateral can have is:
(a1 (b 2 (c) 3 (d) 4
What is the measure of each exterior angle of a regular polygon of § sides
(a) 20° (b) 40° (c) 60° (d) None of these
When a dice is thrown, find the probability of getting a number not greater than 5.
@) = (®) = © 2 (d) None of these

If you have a spinning wheel with 3 green sectors, 1 blue sector and 1 red sector, what is the probability
of getting a non-blue sector.

@ £ () = © % (d) None of these

Numbers 1 to 10 are written on ten separate slips kept in a box and mixed well. What is the probability
of getting a nurber greater than 67 '

@ < () = © % (d) None of these
What will be the unit digit of the Square of 7997
(a) 1 (b) 3 {c) 9 (d) None of these
How many numbers lie between the squares of 99 and 1007
{a) 100 (b) 198 () 200 (d) None of these
Which of the following number is not a perfect cube ?
(a) 216 (b) 128 (c) 1000 (d) 729
The smallest number by which 192 must be divided to obtain a perfect cube is
(a) 3 {b) 6 {c) 9 (dy None of these
The cube root of 8000 is
{a) 20 (b) 200 {c) 2000 (d)y 4000
The ratioof 5 m to 26 km is
{a) 1:2000 (b) 1:4 (c) 1:4000 {d) 4600 :1
The ratio 2 : 3 when converted into percentage s
(2) 20 (b)Y 40 {c) 60 {d) None of these
An item marked at Rs 840 is sold for Rs 714. What is the discount percent?
(a) 5% (b) 10% () 15% (d) None of these
' Contd...2
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Direction : In the questions 19 and 20, a statement of Assertion (A) is followed by a statement of -

Reason (R). Choose the correct option.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A).
(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is irue.

19.

20.

21.
22.

23.

24.
25.

26.

27.

28.

29.

30.
31.

Assertion (A) :One angle of a parailelogram is a right angle. The name of the quadrilateral is rectangle.
Reason (R) : A rectangle is a quadrilateral with four right angles.

Assertion (A} : The simple interest for Rs 500 at the rate of 5% is Rs 100 for a time period 2 years.
Reason (R) : Interest Rate = (S.I x 100) / (Principal x Time) .

Section — B ,
(Consists of 5 questions of 2 marks each) (2x5=10)

2 5
Subtract 3 from Z-

Solve the equation and check yourresult 8x +4=3(x—-1)+7
OR
3

Solve the equation : 5x +2 = >x — 14

A group of 360 people were asked to vote for their favourite season from the 3 seasons:

(i) Which season got the most votes? Season | No. of Votes

(ii) Find the central angle of each season. Summer 90
Rainy 120
Winter 150

Find the smallest number by which 675 must be multiplied to obtain a perfect cube.

I purchased a hair-dryer for Rs 5,400 including 8% VAT. Find the price before VAT was added.

OR
The price of a TV is Rs 13,000. The Sales tax charged on it is at the rate of 12%. Find the amount Vimia
will have to pay if she buys it.

_ Seetion - C
(Consists of 6 questions of 3 marks each) (3x6=18)
. e 9 4 9 _ -3}
Find using distributive property {?6- X =it {E X 7;"}
Solve the linear equation L‘:Z - E%t?-' = g— t

G

In a parallelogram RING if m4R = 70°.
Find all the other angles.

OR

(&) Two adjacent angles of a parallelogram have equal measure. Find the measure of each of the angles
of the parallelogram.

(b) Can a quadrilateral ABCD be a parallelogram if 24 = 70° and 2C = 65° . Give reasons.

The number of students in a hostel speaking different languages is given below. Display the data in a
Pie-Chart.

Language Hindi | English | Marathi | Tamil Bengali Total
" | No. of Students 40 12 9 7 4 72

Find the square root of 9604 by Prime factorisation method.

Find compound interest on Rs 12,600 for 2 years at 10% p.a. compounded annually.
OR
The population of a place increased to 54,000 in 2003 at a rate of 3% p.a.
(1) Find the population in 2001.
(11} What would be its population in 20057

Section — D
(Consists of 4 questions of 5 marks each) (5x4=20)
Find the value of = x> — =3 »2
577 14 7 s

Contd...3



34.

3S.

36.

38.

“The first terminal exams came io an end. Marks scored by

.
.
R
LRl
.

; Identify any two quadrilaterals that have

(a) Four sides of equal length.
(b} Four right angles.
(c) Diagonals of equal length.

OR
(a) The measures of 2 adjacent angles of a parallelogram are in the ratio 3:2. Find the measure of each
of the angles of the parailclogram. T N
(b) RENT is a rectangle. Its diagonals meet at O. g
Find xif OR = (2x + 4)and OT = (3x + 1) %ix
]‘\'? .
s
ax
Q:r
R 5

Find the least number that must be subtracted from 5607 to get a Perfect Square. Also find the square
root of the perfect square.
OR
In a right triangle ABC, 2B = 90°
(a) If AB=6 cm, BC=8 c¢m, find AC.
(b} If AC=13 cm, BC = 5 ¢m, find AB.

Find the cube root of the below numbers by prime factorisation method.
(i) 15625 (i) 175616
Section - E
(Consists of 3 Case Study based questions of 4 marks each) (4x3=12)

Sagar recently bought a plot of land which is in (1+2+1)
The shape of a parallelogram. He named his plot

as BEST. Before constructing a house he wanted

to dig a well and plant some trees in the corners.

He marked them as w, x, y and z as shown in the figure.

(1) He wants to plant a Mango tree at x , what is its angle? =
(ii) What is the measure of y , where he erects a light pole. -

OR
What is the measure of z, where he wanted to plant a Neem tree?
(1it) He wants to dig a well at w. What is its angle?

(1+2+1)
Anmol in different subjects like Hindi, English, Mathematics,
Social Science and Science are shown in a Pie-Chart.
If the total marks were 540, answer the following questions:
(1) In which subject did he score 105 marks?

(i1)) How many more marks were obtained by

Anmol in Mathematics than in Hindi?

OR

Check whether the sum of the marks obtained

in Social Science and Mathematics is more

than that in Science and Hindi.
(i11) In which subject did he score 135 marks?

In St. Ann’s School, the parents were asked about the
number of hours they spend per day in helping their
children to do Homework. There were 90 parents who
helped for ¥ hour to 134 hours. The distribution of
parents according to the time for which they said they
helped is given in the figure. 20% helped for more than
1%z hours per day. 30 % helped for ¥ hour to
1% hours and 50% did not help at all. Oy
Using this answer the following: ek e oo 1 i
(1) How many parents were surveyed?
(i) How many said that they did not help?

(142+1)

" ol one i b

OR
How many parents helped their children?
(iti) How many said that they helped for more than 1'% hours?

OFCECE TVTWOED
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Date : 29.09.2023 MIDTERM EXAMINATION - 2023 ~ Time:3Hrs.

Class : Vill Subject : Science Max. Marks : 80
General Instructions:

(a) This question paper consists of 39 questions in 5 sections. :

(b) All questions ar¢ compulsory. However, an internal choice is provided in some questions. A student s
expected to attempt only one of these questions. .

' ('c) Section A consists of 20 objective type questions carrying | mark each. Student have to write both correct

option and answer.

(d) Section B consists of 6 Very Short questions carrying 02 marks cach. Answers to these guestions should be
in the range of 30 to 50 words.

() Seetion C consists of 7 Short Answer type questions carrying 03 marks each. Answers 1o these questions
should be in the range of 50 to 80 words.

(f) Section D consists of 3 Long Answer type questions carrying 05 marks gach. Answet 10 these questions
should be in the range of 80 to 120 words. _

(g) Seetion E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-parts.

(h) Question No. 17 to 20 are Assertion (A) Reason (R) type questions. Choose the correct option from the
following :

(2) Both Assertion (A) and Reason (R) are correct and Reason {(R) is the correct explanation of Assertion (A).
{b) Both Assertion (A) and Reason (R)-are correct and Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

.........................................................................................................................................................................................................

Q.1 The first antibiofic called penicillin was extracted from ~ (1)
- (a) a bacterium {(b) a protozoan {c) a fungus (d) an algae

Q.2  Which of the.following disease is not caused by bacteria 7 (1N
(a) cholera (b) typhoid (¢) measles (d ) tuberculosis

Q.3 Which of the following disease is not caused by virus ? (1}
(a) cholera {b) measles (c) polio {d)smalipox

Q4 Inagriculture broadcasting is used for- : (D
(a) Plaughing the field (b) rotating the crops

{c) removing the weeds (d) sowing the seeds

Q.5 Which of the following can not be provided by a chemical fertiliser to the soil- (1
{a) mnitrogen ~ {b) humus {c) potassium (d) phosphorus

Q.6  The Government agency responsible for purchasing grains from the farmers, safe storage and distribution

is- (1)
(a) CBI {b) FBI (c) FCI (d) FDI
Q.7  Which of the following is not used in matchsticks these days? (O
(a) Potassium chlorate (b) red phosphorus (¢} antimony trisulphide  (d) white phosphorus
Q.8  Which of the folowing is main cause of global warming? | (1)
(a) carbon dioxide {b) sulpher dioxide  (c) nitrogen {d) ozone
Q.9  What is necessary for combustion to take place ? ' (D
(a) Combustible material (b) air (¢)attainment of ignition temperature (d) all of these.
Q.10 Which one is not an example of inexhaustible natural resource? (1)
(a) sunlight (b) air (c) water (d) natural gas
Q.11 Which one of the following can be prepared in a laboratory? (1)
(a) Hydrogen gas {b) coal (¢} natural gas {d) petroleum
Q.12 Coal gas was used for street lighting for the first time in — )
(a) India (b) London (c) America (d) Australia

Contd...2
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Q.13 Which of the following is not related with Pachmarhi biosphere reserve? m
(a) Bori Sanctuary  (b) Satpura national park () Tawa Reservoir  (d) Bharatpur sanctuary
Q.14 Which of the following is the cause of Deforestation? (1)
(a) Procuring land for cultivation  (b) Building houses and factories
(c) making furnitures (d) all of these
Q.15 The Production of an exact copy of an animal by asexual reproduction is known as — (1)
(a) Budding (b) mating (c) cloning (d) none of these
Q.16 An animal which lays cgg of largest size is- N (1)
(a) Hen (b} Crane (¢) Ostrich (d) None of these
Q.17 Assertion (A): Grains are usually dried before storage. (1
| Reasen (R) : Without drying grains may get spoiled.
Q.18 Assertion (A): Ignition temperature is the lowest temperature at which a substance catches fire. (1)
Reason (R) : Inflammable substances have very high ignition temperature.
Q.19 Assertion (A) : Biodiversity refers to the varicty of living organism in a specific arca. (D
Reason (R) : Sanctuary is the Areas where animals are protected from any disturbance to them and their
habitat.
Q20  Assertion (A) : Amoeba reproduces by method of asexual reproduction called budding. )]
Reason (R) : The transformation of the larva into adult through drastic changes is called metamorphosis.
Q.21 Define (a) Agricultural Practices (b) Animal husbandary (2}
: OR _
What are the advantages of adding manure to the soil { two points).
Q.22 What are antibiotics 7 Name any two antibiotics. | . (2)
OR
What precaution we must take while taking antibiotics ?
Q.23 Write a short note on (a) Coke  (b) Coal tar 2)
Q.24 What is found in the rock shelters of Pachmarhi Biosphere Reserve? (2)
Q.25 What will happen if the top layer of soil is exposed? (2
Q.26 What do you mean by viviparous and oviparous animals? Also give examples. (2)
Q.27 What is crop rotation ? Why is it so important? ' (3)
Q28 (a)What is Pasteurisation ? Who discovered 1t 7 , (3)
(b) What do you mean by vaccination?
Q.29 PCRA stands for what ? Write four tips advised by PCRA to conserve petrol and diesel? . 3)
Q.30 Explain the process of formation of coal. Q)
' OR :
Write one use of each of the following petroleum products (1) Paraffin wax (ii) Kerosene
(iii) Bitumin (iv) Diesel  (v) Lubricating oil (vi) LPG
Q.31 Draw well labelled diagram of different Zones of candle {flame. 3
Q32 ¥n an Experiment 7 Kg of fuel LPG is bumt completely. Calculate the total heat produced by the LPG if
its calorific value is given to be 55000 KJ/Kg. (3)
Q.33 Why should paper be saved? Make a list of the ways by which you can save papers. 3
Q.34 (a) What do you mean by food preservatives 7 (3)
(b) Name the two food materials in each case which are preserved by using the following preservatives —
(i) sodium metabisulphite (i) common salt (iil) sugar (iv) oil and vinegar.
OR

What do you mean by Nitrogen Cycle 7 Draw neat and labelled Block Diagram for Nitrogen Cycle.

Contd...3
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Q.35 (a) What are the different types of combustion ? Explain each with an example.

(b) Write Characteristics of an ideal fucl (any four points). {5)
OR
Describe an activity to show that air is necessary for combustion under the given heads:
(i) Material required (i1} procedure  (iii) observation and (iv) conclusion  (v) diagram.

Q.36 (a) How is Test Tube Baby born. Name and describe the technique used for the test tube babies.

(b) Do all the released eggs and sperm fertilize in external fertilisation ? If not then why?
(c) Draw diagram to show fusion of the egg and the sperm in fertilisation process. (5)

OR
() What is asexual reproduction 7 Give one example of asexual reproduction in animals.

(it) Describe asexual reproduction in case of Hydra.

(iii) Draw diagram of reproduction in Hydra in three stages.

Q37

Q.38

' Q.39

Read the following paragraph carefully and answer the questions based on in: (1+1+2=4)

Boojhoe and Paheli met with a farmer in their locality whe told them that all the crop plants need water for
their growth. The crop plants need water from the soil. The amount of water in the soil is not constant
throughout the year. The former also explained as water from the soil is lost constantly by evaporation
and percolation to lower depth of the ground. It is therefore, necessary 1o supply water to the crop plants
in the fields, periodically, what will happen if we stop watering the plants? Asked Boojho. If we stop
watering plant for a considerable time the plants become pale, wilt and ultimately die. Water is absorbed
by the roots of the plants, the farmer replied. Alongwith water, minerals and fertilisers are also absorbed
by the crop plants.

(i) What are the two modern methods of irrigation ?
(i) How is water lost in the soil constantly?
(iii) What changes we may see in the plants if we stop watering plants for long?
OR
(iii) Why is irrigation necessary ? Write any two points.

Read the following paragraph carefully and answer the questions based on in: (1+1+2=4)

Children while visiting the the Biosphere resetrve area with Professor Ahmad and Madhav Ji, came to
know that extinct species are those which have died out completely. The extinct species may be of
animals ot plants. Some of the examples of extinct species of animals are Dinosaur, Dodo Cave Lion and
Irish deer etc. Children also knew from Red Data Book that endangered species are animals and plants
which are on the verge of vanishing from the earth, they exist in small numbers on the earth, so they might
face extinction soon. Madhav ji further explained to the children that the survival of some wild animals is
becomming more and more difficult day by day because of the destruction of their natural habitals.

(i) What do you mean by Extinct species?
(i) Give two cxamples of extinct animals.
(iii) What does Red Data Book contam? What is its use?
_ OR
(iii) What do you mean by Biosphere reserve?

Read the i‘ollowiﬁg paragraph carefully and answer the questions based on in: (1+1+2=4)

The Science teacher while explaining sexual reproduction in the class, told that the sex cell of one parent
(male) fuses with sex cell of the other parent (female) to form a new cell called ‘zygote’. She further told
that in this kind of reproduction two parents i.e. male and female are needed to produce a new organism.
She also taught the students that the human, fish, frogs, cats and dogs, all reproduce by method of sexual
reproduction.

(i) Name male and female gamets that take part in fertilisation.
(ii) What do you mean by zygote?
(ii) Wiite two differences between embryo and foetus.
' OR
(iii) What is sexual reproduction? Give two examples of animals which reproduce by this method.

CBO3CE TOFOTO
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Date : 22.09.2023 MIDTERM EXAMINATION - 2023 Time : 3 Hrs.
Class : VIl Subject : Social Science Max. Marks : 80

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

General Iustructions :

(1) The question paper comprises six sections — A, B, C, D, Eand F. There are 37 questions in the Question
Paper. All questions are compulsory.

(2) Section - A — Questions {1 —20) are MCQs of 1 mark each.

(3) Section — B ~ Question nos. 21 to 26 are very short Answer Type Question, carrying 2 marks each.

(4) Section — C — Question no. 27 to 31 are short answer type questions, carrying 3 marks each.

(5) Section — D — Question no. 32 to 33 are Case Based guestions with three sub questions and are of

4 marks each.

(6) Section — E — Question no. 34 to 36 are very long answer fype questions, carrying 5 marks each.

(7) Section — F — Question no. 37 {a) and 37 (b) are diagram and map based questions, carrying 5 marks each.

(8) Internal choices have been provided in few questions. Only one of the choices in such questions have to
be attempted.

Section : A (MCQ)

0 Rani Avantibai Lodhi who bravely fought the British was the queenof ...............

{(a) Kittoor (b} Jhansi {¢) Ramgarh (d) Bareilly (1)
02 Tipu Sultan died defending his capital in the Battle of .....................

(a) Talikota (b) Tarain (c) Pollilur {d) Seringapatam (1)
03 James Mill in his book ~ A History of British India, divided the Indian History into ............... .

(a) Hindu, Muslim and Christian (b) Hindu, Muslim and European

(¢) Hindu, Muslim and British (d) None of these (1)

04.  According to Birsa Munda, the Mundas were suffering because of ..................... .

(a) Land policies of the British

(b) Exploitation by landlords and money lenders.

(¢) Ruining and criticism of their traditional culture by missionaries.

(&) All of these. ()
0s. The Champaran Movement was against ...........ooovnene.

{ay Indigo Cultivators {(b) Indigo Planters (¢} Rajas and Talugdars (d) None of these (1)

06. Which one of the following does not make substance a resource?

(a) Utility {(b) Value (¢} Worth (d) Quantity (1
07.  Living beings are inter-retated and interdependent on each other for survival. This life supporting

system 18 Known as .....coceevveeececnene

(a) Biosphere (b) Ecosystem (¢) Food Chain {d) Conservation H
08.  Mosses and Lichens are foundin ...............

(a} Desert Vegetaticn (b) Taiga Vegetatlon (¢) Tundra Vegetation (d) None of these (1)
09. Which one of the following is a human made resource?

(a) Medicines to treat cancer  (b) Spring water (¢} Tropical forests (d) None of these (1)
10.  Which of the following birds is a scavenger and considered a vital cleanser of the environment? .

(a) Vulture {(b) Parrot (¢) Sparrow (d) None of these 1),
11.  Which of the following organs is responsible for implementing laws and running the government? -

(a) The Executive  (b) The Judiciary ' (c) The Legislature (d) None of these (o
12. How many nominated members are there in the Rajva Sabha? : ‘

(a) 10 (b) 2 3) 12 (d) 8 e5)
13.  In which of the following countries were the Jews persecuted and killed in large number?

(a) Germany (b) Israel {c} India (d) Pakistan (D
14.  The leader of the ruling party inthe Lok Sabhaisthe ................. . o

(a) Prime Minister (b} Vice President (¢} Speaker (d) None of these (D)
15. Aurangzeb was the last Mughal Ruler. (Frue/Fase) (H
16.  The government school in India can promote any one rehgmn either in their morning prayers or through

religions celebrations. {(True/False) : (1).
17. Water availability per person in India is declining. (True/False) (1);

18. Reason (R) : The Fast India company annexed Jhanst by applying the Doctrine of lapse.
Assertmn (A) : As per the Doctrine of Lapse, if an Indian ruler died without a natural male heir, his
- kingdom would “lapse” and become a part of the company territory. (1)
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A). :
(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation of
Assertion (A).
(¢} Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason 1s true.
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Assertion (A) : There are nine fundamental Rights in the Indian Constitution.
Reason (R} : The fundamental Rights are also referred to as the conscience of the Indian Constitution. (H
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A).
{b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason is true.

70.  Assertion (A) : Land is onc among the most important natural resouIrces.
Reason (R) : The land covers about seventy per cent of the total area of the earth’s surface. 4]
(2) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A). .
(b) Both Assertion (A) and Reason (R) are frue, but Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason is true.
Section : B (Very Short Answer Type Questions)
71.  What is colonization? ’ (2)
27.  What were the two problems that arose with the Munro system of fixing revernme? )
73.  What is secularism? 2
"4, Why does a democratic country need a Constitution? (Any two reasons). : 2)
95.  What is weathering ? ' (2)
26.  What is sustainable development? : 2}
Section : C (Short Answer Type Questions)
77.  What attracted the European trading companies to India?
OR €)
In what ways was the administration of the company different from the Indian rulers?
58 What was Birsa’s wision of a golden age? _ (3}
29, Name all the Fundamental Rights given in the Indian Constitution.
_ OR €)
What are the three levels of government in India?
'30. = Described the composition of the Lok Sabba in India. 3) .-
31.  Describe any three methods of Soil Conservation. . (3)
Section : D (Case Based Questions) - -
32, Read the source given below and answer the questions that follow :
The life of tribal groups was directly connected to the forest. So changes in forest laws had a
considerable effect on tribal lives. The British extended their control over all forests and declared that
forests were state properly. Some forests were classified as Reserved forests for they produced timber
which the British wanted. In these forests people were not allowed to move freely, practice Jhum -
cultivation, collect fruits, or hunt animals. How were jhum culiivators to survive in such a situation? -
- Many were therefore forced to move to other areas in search to work and Jivelihood.
(1) Which forests were classified as Reserved forests? , (1)
(2) What type of cultivation was practiced by the tribal groups in the forests? )
(3) What was the importance of forests in the life of tribal groups? (2)
33 Read the source given below and answer the questions that follow :
The Rajya Sabha functions primarily as the representative of the states of India in the Parliament. The
Rajya Sabha can also initiate legislation and a bill is required to pass through the Rajya Sabha 10
become a law. It, therefore, has an important role of reviewing and altering the laws initiated by the Lok
Sabha. The members of the Rajya Sabha are elected by the electedfimembers of the legislative
Assemblies of various states.
33 (1) Which House of the Parliament represents the state of India? (H
33 (2) How are the members of the Rajya Sabha elected? (1)
33 (3) What is the importance of Rajya Sabha in Parliament? 2)
) Section : E (Long Answer type Questions)
34.  In what ways did the British change their policies as a resuit of the rebellion of 18577 (5
OR
What impact did Bahadur Shah Zafar’s support to the rebellion have on the people and ruling families?
35,  Write any five principles of Sustainable Development. ,
- OR (5)
Why are resources distributed unequally over the earth? Write any three differences between Renewable
Resources and Non-Renewable resources.
36.  What is Question Hour? How does the Parliament control the executive through it? (2+3)
Section : F (Diagram/Map based question)
37 (a) Make a diagram (flow chart) of factors affecting the soil formation. (5)
(b) Locate any five places on the political map of India. {1x5)

(1) Meerut (2) thansi (3) Malabar Coast
(4) Coromandel (5) Madras (6) Plassey
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Date : 15.09.2023 MIDTERM EXAMINATION - 2023 Time : 1 % Hrs.
Class : Vlii Subject : information and Communication Technology  Max. Marks : 50
Muitiple Choice Questions: (1x16=10)
(i) Describe a computer that is connected to a network.
(a) Unit (b} Node (c) Attachment (d) Device
(ii) It can convert the digital signal into Analog Signal and Vice Versa,
(&) Hub - (b) Router (c) Modem (d) Can Card
(iir) Which of the following is the link that associated a ficld in one table with the same field in another
table?
{a) Structure {b) Binding (¢) Relationship {d) Printing
(iv) Which feature in Libre Office allows us to retrieve data from a table?
(a) Form (b) Report {c) Query {d) Noue of these
(v) Which of the following is an organized way of creating, editing and displaying data from the table?
(a) Report  (b) Query (¢) Form {d) Table
(vi) Which of the following is not a data type in Libre Office base?
(a) OLE {b) Number {c) Text {d) Yes/No

(vii) Which of the following key is used tc specify a unique field in a table?
(a) Primary key {b) Secondary key {c) Composite key (d) None of these
(viii) Which of the following is a looping statement in Python?

(a) Tf statement {b) For statement (c¢) Input Statement {d) Bank Statement
(ix) Which of the following is an in-built function in Python?
(a) If (b) Tf-else {¢) lf-else-elif (d) Ali of these
(ix) Which of the following is an in-built function in Python?
(a) Print (b) Multiplication  (¢) Statement (d) Addition
Fill in the blank: : (1x5=05)
(1 The................. loop never end.

(1)) In Python the non zero value is interpreted as ...................... .

LE10) U is a protocol used to send e-mail messages over the internet.

(iv) After creating the query we need to run the query by clicking on the .......... Run query.

(V) oo, is an expansion card which is used to provide the network access to a computer.

State True/False: | (1x5=05)

{1} In Bus topology all the nodes are connected to a single common path.
(it} A server is also called as host computer.

(iit) There is two types of data base.

(iv) Design view is used to change the appearance of the form.

{(v) You canrun the query at once.

Answer the following questions:

(i) Write the use of repert feature of Libre office base. 2)
(11) Why do we need a form in Libre office base? : )
(i} What is a flat file data base? (2)
(iv) Write the syntax of for loop. (2)
(v) Draw the flow chart of the nested if statement. 3
(vi) Name various components needed for a computer network. (3)
{vii) What are the advantages of DBMS ? )
(viil) What is Primary key and why it is necessary for a table? &)
(ix) Write short notes of the following : 3)

(&) Primary key (b} Report

(c) Query (d) Form

(e) Database
(x) Define the following terms : : ‘ (5)

(a) LAN (b MAN

(c) Protocol . (d) Client

(e) Server
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Date : 12.09.2023 FIRST TERMINAL EXAMINATION - 2023 Time : 50 Minutes
Class : Vil Subject : General Knowledge Max. Marks : 50

Name of the student: Class/Sec, .i{oﬂ No
Invigilator’s Signature - . Marks obtained : /50

....................................................................................................................................

General Instructions :
» All the questions are compuisory.
. There are 50 questions of 1 mark each.

...................................................................

Q.01 Answer the following questions : (Ix10=10)
(a) A bird that does not migrate is known as

........................................

(b} This bird covers the largest migration route. It flies from the Arctic to the Antarctic, yearly.
Thebirdis ....o.oooooveiiii

(d) Which station in India has World’s Longest railway platform {1.35 km. long)?

(€) Name the first Woman President of India. ...,

(D) This artist creates three dimensional sculptures by cutting and folding a single sheet of paper. The

Remains of cut and folded paper appear as the shadow of the formed structure. Name the artist

(g) The wax statue of Mahatma Gandhi jiis in this world famous museum.
Name the museum...............
(h) Name the place where Indian Laws are made ........................
(i) Name the person who knows many languages .........................
(J) A person who holds a post without a salary isknownas ...

0Z.  Answer the following questions : (1x10=10)
(a) What is the term used for a migrating bird that is just passing through? ...

(b) Name India’s highest railway station .................... e :

(¢} The ltalian artist makes beautiful portraits of famous people (like Dalai Lama, Steve Jobs) on human
fingers. Name the artist ................................ .

(d) Itis the line which joins places that have the same atmospheric pressure .............oo.oo .
(e) The line that joins places which have the same amount of sunlight, isknownas ...................... .

() He was an American astronaut who performed the longest spacewalk (8 hours 56 min. long)
whoishe 7 ...................... ...

{g) Name the line which joins places that have same mean anmual or monthly temperature. ..................
(h) Which letter is 7 to the left of *Z” and 3% (o the nght of “P’?

(i) If five vowels are omitted from the English alphabet which should be the eleventh letter from the
beginning? ... '

(1) Who is known as the ‘Nightingale of India’? ...
Contd...2



03.

04.

0s.

06.

07.

2
Name the inventors of the following inventions : {1x5=5)
(@) Electric mOtOr  cooeer e

(b) Pet bottle

........................................

(c) Microwave oven

.......................................

{(d) Pinhole camera

.......................................

(e) Mobile phone s

Math the following : (1x5=5)
Celumn A Column B Correct Answer

(a) Bond Street (a) Movie witha dyslexickid oo

(b) Long Off (b) Leo Tolstoy e

(c¢) Heliotherapy (¢) London (UK)  ceeri

(d) Taare Zameen Per (d) A fielding position in cricket — ....coooiioioiiiii

(¢) War and Peace (e) The Sunlighttherapy oo

F ill in the blanks : (1x10=10)

(a) He was the first explorer to reach the South Pole. He is also one of the first persons to reach/cross the
Arctic Ocean by air. Heds ..o .

(b) At one time it was regarded as one of the most controversial buildings in Prague. Itis .................. .
(€) creeeii Known as the ‘Ice Woman’, she was the first woman to fly over the North Pole.

(d) The quote “The Child is father of the man” was said by

........................

(¢) Rodeo Drive is a famous shopping street I e .

() “Arms and the man” is Written by .....oooooveienn .

() NPT was the first woman to win the Nobel Prize.

(h) The Agra Fort was built with red stone by ..... e, .

(1) ceveeeeee e is a movie of a deaf boy making it to the Tndian Cricket team with the help of
his coach.

(j) Sun rays improve liver functioning being effective in treating ........covoeenvenneneen (disease).

(2) Name the fairy tal%: inspired building in Sopot, Poland .....c.oooiiiiiiinn X 4}

(b) Who said “Our Sweetest songs are those that tell of saddest thoughts™? 1)

{c) This beautiful tree has become endangered. It is found only in Mauritius. ... 1)

(d) “Jaisalmer Fort” was built in 1 156 CE by .a Bhati Rajput ruler, named .......cocovniinneee . (1)

(€) eeerneeiien e The ‘People’s President’ is alse known as the ‘Missile Man of India’. (1)

Current affairs : (1x5=5)

(a) Who was cf()wned Femina Miss India 20237 coviiiiiiiira i

(b) Who won the T20 international series in West Indies played between India and W.L? .....oenennn

{¢) Name the present Union Minister of Defence.
(d) Who is the Health, Family Welfare and Medical Education Minister of Chhattigarh state? ............

(e) When was Chandrayaan-3 launched bY ISRO 7 «.oiviiiiiiie e
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